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GENERAL STUDIES 

Paper-11 

(Time Allowed: Three Hours J (Maximum Marks : 300) 

I STRUCTIONS 

Each question is printed both in llindi 
and in English. 

Answers must be l'Vritten in the medium 
specified in the Adrnission Certificate 
irsued to you, which must be tated 
clearly on the cover of the answer-book 
in the space provided for the purpose. 
No marks l-'vill be given _for the ansv.·ers 
written in a mediun1 other than that 
specified in the Admission Certificate. 

Candidates should atte1npt all questions 
strictly in accordance ·with the 
instructions given under each question. 

The number of 1narks carried by each 
question is indicated at the end of the 
question. 
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1. Write notes on any THREE of the following in about 
150 words each : 3 x 15=45 

(a) India's strategic interests in South Asia 

(b) China's 'peaceful rise' doctrine 

(c) India-Russia Defence Ties 

(d) India's 'soft' and 'hard' power strategy in Foreign 
Policy. 

2. Write brief notes on any FOUR of the following in about 
50 words each : 4 x5=20 

(a) Nuclear Supply Group (NSG) and India 

(b) Your views on the recent 'Gilgit-Baltistan 
Empowerment and Self-Governance Order 2009' 

(c) Wakhan Corridor 

(d) Nuclear Submarine 'Arihant' 

(e) National Security Advisory Board (NSAB). 

3. Comment on any TWO of the following in about 
1 00 words each : 2 x 1 0=20 

(a) India-USA as strategic partners 

(b) Ethnic conflicts in South Asia 

(c) 'NEPAD' and its objectives. 

4. Write on any TWO of the following in about 
50 words each : 2 x5= 10 

(a) Indo-Bhutan trade relations 

(b) Sino-Myanmar relations 

(c) Geopolitics and Geostrategy. 
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1. f-14="1 ff1 1{q d -q -ij- fch rtfl -aR" 1ft fZ til fU Ill i f<1 Rq Q\ uft 9 <:~ Cf) 

(1lfqTf 150 ~~~1· -q ~ i'II~C!\ : 3 x 15=45 

(ql) ~ ~llll if m«f * ~l'ift:Cf' ~ 
('.Cf) ~ CflT '~tifcl~f \3C:ll' ~;aid 

(lT) 'lT«f-~ ""{~ ~u 

(tl) fcl"4~t ;:ftfa ~ cqmf ~ '01 {li' 3fR 'Cf'6t{' ~IF<ffi {Ut;:ftfd I 

2. f.14="1ffiR4a if ~ Fch~el Tm: tn: ~ R:UlfUttti ffi~Q\, 
uft 9<:-~Cf' (1lfqTf 50 ~~~'f -q m : 4 x5=20 

(ql) ~ ~ tt~ti (~-~-~- ) ~ "1ffif 

('.Cf) 

(Tr) q I {Ct "1 J I ffittl {I 

(~) ~ q"1~ts:4l '3tfttid' 

(q) ~ ~en ~("'ltiCf'l< ani ~.~."C!: .afi . ) 1 

3 . ~ 4="1 ff1 ftq d -q ~ f4; ... tft err '1{ R: 04 oft ~ ~ Q\, ~ 9 ,£1 Cfi 

100 ~I&Gl -q ~ =t:ti~Q\ : • 2x10=20 

{ql) 'll«f-~."Q\« "C!:. : {Ufrt1fclCf' <qtJftGt u· <f; ~ ~ 

~) ~ Q\fflllll it 1"11d1ll tt't'fti 

(Tr) ~~~s' (-q;:r .~'tft-"C!:.~. ) 3ltt \3~* \3t~ttl 

4. f-14="1 R1 Ret d if ~ fch ... tft c?r 1ft R1 f{q C!\, uft 9 c:-tl Cf) (1lfqTf 

50 !#l¢Gl. if m : 2 x5=10 

(CF) mur-~cl"i clJfql{ ~u 

~) ~ ~il41< ~u 

(Tr) ~ {1"1 rt1fcl ~ ~ {U I ;oft~ I 
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5. Comment critically on any ONE of the following 

statements in not more than 200 words : 20 

(a) "Foreign investment is far from being critical to 

India's economic groWth.' ' 

(b) "The lesson of the current global financial crisis 

is that India should halt and may be even reverse 

financial liberalisation." 

6. Answer any ONE of the following in about 

200 words : 20 

(a) "In the WTO negotiations over the years of the 

DOHA Ronnd, India appears to be diluting its stand 

on agriculture issues to pursue perceived gains in 

services_,, 

Critically examine this statement. 

(b) Discuss the Indo-US knowledge initiative tn 

Agriculture. 

7 . Answer any TWO of the following (Each answer must 

not exceed 150 words) : 2x 15=30 

(a) Evaluate the prospects for greater economic 

co-operation between India and China. 

(b) Does India need the World Bank ? 

(c) Critically assess the recent Free Trade Agreement 

entered into by India with A SEAN. 
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5. Pn=rttf1Rc1d ~ ~ fcllm ~ <fllqo=t ~ t1l"ft<1lifrt J(licti R:Ufuft 
ff1R40:, ~ 200 ~ 31fucF ~I&Gl. ~ 1 tn : 20 

(q;) "f4~~ft Pi4~1 'qf«f Cfl'l ~ ~i~~ cf; ~ ShiRtCfl 

~~~~it" 

~) "'q('l'iitrt ~lVqCfl f4fft~ e'Cflc CfiT liTO ~ i fit; ~ 

eFT f4tft~ \3GI ftCfl(OJ "Cfll ~ ~ iti~Q\ 31)-{ ~II~C: 

rrnl (fCF ~ \3ft ctn \3 ("'{1 ~~II ~ R "11 "1 I ::q I~ 0: I" 

6. PI J0"1 ff1 f{q(1 ~ ~ f4; ij) "C(Cfl q;r \3 t1 < ~ f'1l ~ \3 fl < 2 00 ~I &Gl. 

~ ""lH~I -q 'flft ~ ;qJ~Q\ : 20 

(Cfl") ·'Glm <IJs cf; ftl0H ~ ttl<1l. it, ~~q ~141< tt.'l6"1 

(s~~ il an) <mffan ~. ~q,::srr it ~(Gil{ ~ cnR 
~ CfiT 31i)tt {OJ <fl{Pl cF ~ CJlffit ~ ~ 11{ 

31"CA ¥. ~:ql{ it "1 (iii{ 314"11(11 9dtd l?TdT ~ t" 

w q;~ CflT e 'i 1ffi ;q r:ttlj\cfCfl -qiJ~ ~~ o: t 

~) ~ cf; ~ ~. 'IT«i-~-~- ~ ~ "tR ~ c/t)Rlftt I 

7 . PI '""1 Rt ~ d ~ ~ Fch r-ift cit ~ \3 t1 < cfH~ C( 1 (Sk~ Cfl ~ t1 < 
150 ~I&Gl ~ 31~Cfi it 11ft tfl "11 ifi~C!>) : 2x 15=30 

{Cfl) cqmr ~ ~ cf; ~ 3ftT 31ffl Cfi 31 I IYf<fl tt ~!() J I ~ 

tf~ CfiT '1\~~i<fl-=t cFl~C!> I 

~) ~ '1f«i q;) f4~q ~ q,'l 311q~itCfldf ~ ? 

{lT) cqr«f Gm 
1
311 ~it I "1 ' cf; m'lr 'lm'f ~ ~ 1fC!: ~ 

&11 q I < Cfi < I < CflT e 1i I ctl ::q "11 t c:fCfl 3tl Cfi ~Ff ~ RJi C!> I 
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8. Answer any THREE of the following (in about 

150 words each) : )x 15=45 

(a) What do you understand by · Btosignatures' ? 

Discuss briefly. 

(b) Write about Green Fluorescence Protein (GFP) and 

its applications. 

(c) Define 'Bioinformatics". How does it work? What 

are its major branches and applications ? 

(d) What is the 'Hubble Space Telescope"? Ho\.v many 

Servicing Missions (SMs) have been conducted 

for it ? 

9. Explain any FOUR of the follov;ing (in about 

100 words each) : 4 x 1 0=40 

(a) DNA Finger Printing and its utility. 

(b) What is 'Nanotech'? Give a brief account of its 

basic concepts, materials used and applications. 

(c) What 1s ''Graphene'~ ? Mention at least three of 

its applications. 

(d) Define 'optical frequency comb' . Suggest at least 

three applications. 

(e) Why is tete-medicine important for country like 

India ? 
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8. f~p:;:if{1~{1 if ~ fchr~1 ~ qi"f \3f1 { <fll\li(( (g\ltCfl ~ 

}50 ~t¢G'f if) : 3 X 15=45 

(CF) 3TTtt ~ ~«ilffi' ~ Cfm tili~d ~ ? ~~ ~ ~ 
~[{ij~ I 

~) tiFta gfa<!lf?<i V"tfrf (\;fi.~.lfr. ) 3fn: \3e~ 3fi;g4~Pri 
"cfl ~u -q fRRct~ 1 

(1T) ~ ~=q<=fl fchtl<=t ' ~ ~ ~R;t~ I ~ ~ YCfll{ 

Cfi"T"lf Cfl <dl i ? ~ec(;) ~ ~ll<.qlc( 3liT 3tj)S4~PI ~-~ 
~ ? 

('C:T) ,tiatf1 ~ ii\<G~ff' CflJT ~ ~ ? \?H=t~ ~ fcha""l 
ftqiCfl(OI f'?t~l"i ~.~. ) ti:qlffid ~ \ifT ~ ~ ? 

9. ~ ~"1 fftf{qa -q ~ f4l rift ~ q:,'1 fq tSC: ~~ Q> ( Sk~<tl ~ 

100 ~I¢G'i -q) : 4 x 1 0=40 

(CF) "tr ~.~ ~ 31G"1 3ftt \3ftCfft \3Glilflldt I 

(\.Cf) j ~-::frzq,' CflJT l?rnT ~ ? XJe*t 311ulf1Cfi e·Cfi~G<=tt3IT, 

99)Cffi tiiAftlifj 3fR 3ti)Y~Jj). q;r ~ ~ ~ct {01 

9 ~(1 Cfft fZ;t <:!> I 

{1f) ' tn~"1 ' ~ mor ~ ? \3e* ~ ~ ~ <fr1 3tj)Y~nrr 
Cf1T \3 <:"'H (q q,') ~ <:!> I 

(tl) . 9 Cfll ~I ctl 3i I ~ffi ~' Cfl'1 ~ ~ fUl C( I Cf»1 ~ "ctlll 

~ 31-::r9l7J11 61di~Q\ I 
.:;) 

(-:q") ~ ~ ~ if; ~ ~ fqfcf"lct'JI ~ <tll{UI &i$\ct'i"f 

~ ? 
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10. 

11. 

Write brief notes on any FIVE of the following (in about 

3 0 words each) : 5 ..< 3= 15 

(a) 

(b) 

(c) 

(d) 

(e) 

(f) 

(a) 

Artificial Sun 

'"egetable (}old' 

PFCs and 'liquid breathing' 

The 'P-8A Poseidon' 

Biometric ATMs 

Extra "ehicular Activity (E"A). 

The total areas of cultivation of high, medium and 

low sugar-content sugarcanes in four regions of 

a state are given below : 

Sugar content Region 

North South East West 

High 100 100 200 50 

Medium 300 300 400 250 

Low 800 400 1000 700 

Total 1200 800 1600 1000 

Draw suitable diagram that facilitates the 

comparison of areas of cultivation of different 

sugar-content varieties among the four regions 
6 
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( 9 (" tt Cfl (9'lNlT 3 0 !II cs:<?l· -q ) : 

~) ~wf 
~) '4 ~ 2 csf<1 Jfl <"" s ' 

(TT) "tfi.l:!;O ~. aTR ~ ~q~ 1 , 

('tf) 'tfi-s 1!: en Ri s -=~ , 

(Tf) ~-~ jftoqctfl~ 1!; tT.1!;lf. 

~) '1 Iii-=! at lij) Cfllrfiflftlq (l.<fi.'~. ) I 

Sx3=15 

11. (Cfl) \3~~ . 'ittl'i ~ f.1 ¥=1 ~tctf<t-3iacf~ qtcll ~ ~ 
~ cf; ~ m <I'Tt{ cf; TIT{ g~~=n· -q ~ ~ ~ 
~(41~ ~ ~: 

~•<i<• aiaci~ ~~~~ 

3~~ C:~OI ~ q~~'J 

\3~=t:t 100 100 200 50 

littl'i 300 300 400 250 

~~<1 ~00 400 1000 700 

~ 1200 800 1600 1000 

1J,Cfl ~ aq9)Cfd 311{€1 i1"'11~~ ~~ij =t:fl{). Y~!iTI. cf; 

ifrq ~ ~lctf{t-3idq~ fcl;f¥fl' ~ ~ cf; ~ 

~ 9)H'1 I Cfi{~ ~ ~f4ul m I 6 
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(b) The following table gives the production of soda 

ash (in tons) by three companies (A, B and C) over 

seven years period : 

Company 1996 1997 1998 1999 2000 2001 2002 

A 20 25 28 31 34 36 41 

B 15 18 23 35 40 46 50 

c 45 43 40 37 30 26 20 

Draw a suitable diagram so as to compare the 

performance of these companies. 6 

(c) The following data relate to the sales and net profit 

(in Rupees Crores) of a company : 

Years 1994-95 1995-96 1996--97 1997- 98 1998--99 

Sales 

Net Prof"rt 

100 250 300 290 680 

2·5 4·5 6 8·5 12 

( i) In which year the percentage of growth in sales, 

relative to the previous year is higher ? 

(ii) In which year the percentage of growth in 

net profit, relative to the previous year, is 

higher? 
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(@) ~ ~ ~ I {Oft -q I "ffi(f ~ -q (ft;:r q; q PI 4Y (Cfl, l_Cf 

3Th 1f)"* trrU \3("41f4d ('(lsi ~ ~ 'il~l (z-;ff -q) 

eft lT{ ~ : 

q;q::ft 

Cfl 

~ 

lT 

1996 1997 1998 1999 2000 2001 2002 

20 25 28 31 34 36 41 

15 18 23 35 40 46 50 

45 43 40 37 30 26 20 

~ \34!!<ffi 3fi{(Ct G1~ I~C!> dlfiti ~ Cf{qP!tfl. cfl PftSI41G~ 

~ 9)ff11 ct)- \;ff ~ I 6 

(lT) Pt J:1 f?t Ret d 3t i Cfl~ ~ ctl q 11 ct)- fi) f*;t(i ~ Pt q (9 

~ (Cflds (jqtfY -q) ~ ~·afft.ta ~ : 

~ 

~fsti~i 

f-tcn=:t 
~~ltfll 

1994--95 1995-96 1996-97 1997- 98 1998-99 

100 250 300 290 680 

2·5 4·5 6 8·5 12 

(i) ~ CftSf -q, ~0H Cftif <fl !!Cfl1G1H, ~~ ~ ~ 

~ gfa!llddl 3fl'UCfl ~ ~ ? 

(ii) ~ <flf -q , ~08l Cf1Sf c:fl iCfliG1H, Pt q(1 JJ)~ 1c0fi 

-q ~ ~ gfaQiddl 3lftlCfl ~ ~ ? 
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(iii) Let the profitability be defined as the ratio 

of Net Profit to Sales. In which year the 

profitability is higher ? 4 

(d) The total sales (in '000 rupees) of a particular item 

in a shop, on 10 consecutive days, is reported by 

a clerk as follo"\\'S : 

35·00, 29·60, 38·00, 30·00, 40·00, 

41·00, 42·00, 45·00, 3·60, 3·80 

Later, it was found that reports of the 4th and 8th 

days were 10·00 more than the true values and that 

in the last two days the clerk put a decimal wrongly 

one place to the left (for example, 3·60 was really 

36·0). Calculate the true mean value of sale. 5 

12. (a) In a factory, 1500 women are working. Eight 

hundred of them come from rural areas and 450 

of the married women are skilled labourers. The 

number of skilled, rural and married labourers is 

300. Of the 400 unmarried and skilled women 

labourers, 250 are from urban areas. The number 

of married, semi-skilled women labourers from 

urban areas is 200. One hundred married rural 

women are semi-skilled labourers. 

Tabulate the above information. 4 
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(iii) l1R RlRi!Qt ~ ~ ~ ~ ~~ ~ 
Pt q(1 ~~ cf; 3f1,"tffif cf; ~ -q ~ \iii (1') W I 
~ Cf1Sf -q ~ ""lfiGI $-rft W ? 4 

0l) ~ ~I "1 -q 'Qt<fl f4 ?J tSf -rrG ~ <"P II d I { 1 0 ~ 'tft 

~ ~#l"l ('OOO fjq~'i if) <tt1ctf ~ Pt '""1 fHR<:.a ~ 
~: 

35·00, 29·60, 38·00, 30·00, 40·00, 

41·00, 42·00, 45·00, 3·60, 3·80 

csnG if lllln lfliT f* ~~ ~ ~ R ;fY q,'T f{cfi ~ 
~ ttt4'l" -ij- 10·00 31fuct; ~ ~ ~ 3iRttt ~ ~ 

-q Cff1 ctf ~ G !t I ti <"1 q q;) J I (1 (ft -ij- 'Qt<fl ~ I "1 ~ aTR 
(11fT ~ tlT ('3Gitj{OI cf; ~ 3·60 ctltttct if 36·00 

m) I fi) d)) cf; ct I ffi f4 Cf' '11 Ul llR CflT q f{q; C1 "1 ~ ~ Qt I 

5 

12. (CP) ~ Cfil{\.ql;) if 1500 ttf'6Hic( ~ Cfl<:tft ~I d"ii:l. 

-ij- 800 ~1lflo1 ~ -ij- an{ ~ 3ih:" f4ctl~c:1 A~C1t31l 

-q 450 ~!tiH 5511"llCfi ~ 1 ~!tiH ~ rxfto1 3lh:" f4Cf l~d 

~ftlcN. q,'T ~·(OQI 300 ~ I 400 3tf4ctl~d 3ltt Cfi!tl(1 
..::) 

ti~HI 551f'tlcN. if ~ 250 ~~~ {) ~ -ij- 3TT{ ~ I !tltj {) 

~ -e- ant f4 Cf I ffia, anf-t, !t I <"1 '1 ~HI ~ f'tl q{j q,'T tt\C£11 

200 ~ 1 'Qt<fl ~ f4 c:tt~d , !1t4'to1 tt~Hic( 3lU-Cfl!tl<"1 
..::) 

~ftlCfl ~ I 

\3q{)Cfd \i11"1CflJ{) "CfiT fti{Of)~;g ~RJIQt I 4 
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(b) The mean score of a class in an examination is 

70. If the mean score of boys is 60 and that of 

girls is 75, obtain the percentage of girls in the 

class. 4 

(c) In a city 20% people read newspaper A, 25% people 

read B and 10% read both A and B. What is the 

percentage of people who read at least one of the 

two newspapers ? 2 

(d) In order to study the effect of inoculation on TB, 

it was found that the number of inoculated and 

unaffected from TB is 28, and not inoculated and 

affected from TB is 13. If inoculation was 

performed over 40 persons out of 60 persons, 

complete the table and obtain the missing numbers. 

2 

(e) The percentage of literates in six villag~s of an 

area are noted as follows : 

52, 46, 21' 30, 17, 24. 

Can you compute the percentage of literates in the 

entire area from this information ? If yes, compute 

the percentage . If no, state what additional 

information you would need for the computation. 

2 
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(~) ~ 1ftlan lt ~ Cf;alf CflT tiiUI ~~~l<tl 70 ~I ~ 
<1 '$ eN. CflT q I Ul 9 I 10{1 i q; 60 31)-{ H \S fc\; ~1· CflT 7 5 it, 
m ~ Cflffi lt <1'$fc\;4'i ~ 9RI!tttH11 'il~~ q,~Rifct I 

4 

(Tf) ~ !litH: lt 20% ffilT ~tilitl{q?l 'cfl' ~ ~ 3iR 
25% ffilT ~lilitl {q?j '\.9' ~ w 3frr 10% ffi1T 'cf;' 
3lh- 1.cf I Gl ;fl. ~ ~ I ~ ~ Gl ;:j). lt -« Cfll{ -« 
Cfll{ ~ ~tiloql{q?j ~ ~~ ~ ct)Jj)" ~ 9Ul!tlddl 

Cfm ~ ? 2 

(~) it~. ~ aft ti I fl "tiT Cl ~I q; { o I ~ lJcqfq CFT 31 tlf lF1 

q; <4 ~ ~, ~ 1ffm TfliT ~ ilq;1q;f(a aih" ~aft. 

~ 3T9'~11'4d e1lJff ~ ~\Ollt 28 ~ ~ ~ 3tClq;lq;fta 

~ ~.aft ~ 1J,qtf4d ffi,r· ~ ~"tOll I 13 i 1 ~ cwr 
60 ctlfcffi4'f -q ~ ClCf11Cf1 {OI 40 CFT fc\l~ I ~ it, m 
~ I {oft q;) ~ Cf{l ~ ct 31)-{ 'II tfiq e\0£11 c( vrt<f ~ ~ ct I 

2 

{T-f) ~ m lt, £J: 1Jicff -q mm ct"')Pn· ctf 9Rt!tlddl ~ 

eft~~: 

52, 46, 21, 30, 17, 24. 

CflrT 3frq ~ \i11"1Cfllfl "it ettw m lt et~{f ~ 
9kl!tlddl q;r qft<fl(1"1 Cflt eq;a ~ ? ~ m, m 9kl!tlddl 

"Cf1T qftq;<1"1 ~R;tct, ~ -;:ffll, m 3l1tJ lqdt~o: fcF qftq;(1"1 

Cf1{2l if;~~ atklR:Cffi \i11"1Cf11{) ~ 3flqq;'J 3tlct!tll~dl 

Mt 2 
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Serial No.( ______ ~) ( B-DTN-J-HTB) 

e I 'i I ;::q 3nJ4lt-=t 

S4 =t;::w ~-II 

31j~ !II 

( "'o/fCf) : 3 00) 

9c-4cti gv;r f&r-cfl 3th- 3[U\J{} c:T;ff if WTT 

~I 

5/~rff cf> \3 t1 ( "Jdt A/FAll if tfRff urrif rnf&Q 
~ttctil d<"H<ct 3174¥ 94~, ~ -q PJ;;liJ Tf11T 

~, 3ft( W JTTVPT CFT t="C/lSc \3 <"rl (CT 

\3 t1 ( J/ffictJ 1 cf; ~ &2lS6 rn: 31·14>a A Msc:. 
fqpr W /4) 4 I \if I rt I ill~ (! I 9 4 !J 1- rr::f 

rrr affHf(qa ztJEllll cf; 31fdRm 3F7l fit;ift 
lt/El/R if ~ 1ft!: \3 f1 < 'Cff q;)-( 3fcf> rtfff 
FRPril 1 

duflfiqJ(r cnt tntt 9!Jri1. * an( 9c-4ct> 

gv;r cf; ~ ~ Tff!: 311,4 !Jff cf; 3r-Jt1IT 
lfr Cfi <. =1 illf&q I 

9 c-4 Cf) gv;r cf; ~ PI lid 3icf; rrr-r cf; 3Fff 

if ~ TfTJ: ~I 

Note : English version of the Instructions is printed on 
the front cover of this question paper. 
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